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AP Calculus AB _
Cross Sections Worksheet J
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1. The base of a solid is bounded by y = cos(x), the x-axis, — ry Sx< 3 Cross sections perpendicular

'ﬂ[-z,

to the x-axis are squares, Find the volume. N2

‘ N = |cosx)dx =1.57I
S=come Az (cosd :

"z

. The base of a solid is bounded by y =2 — x, the x-axis, and the y-axis. Cross sections that are

pgmgnduul.\r to the x-axis are isosceles right tnangles with the right angle on the X- -axis. (Legs

hgrpu\du.ul 11*\:\) \thc. X- d.\lb) 11;\1% the volume. \/““ f ( 5 7\) 2 { % =1,3 22

llm base of a solid is boundgd by the semi-circle y = 2 \4- A and the x-axis. Cross sections that are
pgms.ndu.ul ar to the x-axis are squares. Find the volume. ; 2
V= fw—x Y% = 10,667

2
S= (x> A=) 2 |
4. The base of a solid is bounded by y =v16— x2 and the x-axis. Cross sections that are perpendicular to
the y-axis are nqmlat;ml trmm.les Find tlu, volume 2 2
i o G| (le-w2)dg = 73,
. The bas; ofa bOlld is a c1rcular region in the \y‘*j‘)lane bounded by the graph x? +y*=9. Find the
v ollum of the solid if every cross section by a plane normal to the x-axis is an equilateral triangle with one
side as the base. AL :
—~ r\\] A-xX= :‘ \Ff; - ! —y = =
S T A= faE) V=] @-x)dx = 62,354
6. The base of a solid is circular region in the xy-plane bounded by the graph of x?+ y =9. Find the
volume of the solid if every cross section by a plane normal to the x-axis is a square with one side as the

e S = QA A= QSR § 4(a- %o = |44

7. The base of a solid is bounded by y =2 — -;.x the x-axis, and the y-axis. Cross sections that are

perpendicular to the y-axis are isosceles right triangles with the hypotenuse in the xy-plane. Find the EQCL
volume. '
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